gaalel eruiml Al Adle [@etol aidl. (1999 - Reading Higher — Sec 2 — Ex 1 with slight
changes)

auql Yoddl usll Jaededn yel

Gar:
udl Aewsieq COEICIT

§ UeR AN+l URHIN Yas €9, MRL HABdL AN | dR A_/UA B B 6RIGIR, Y- A2
WA ® 3 wuel Adeild AHFAL Y duil A waael dud AlssA S1UEl A, § Hie
ol AANVNA Ul SHAL %, HA AdNIdA Haq ¢ % wsallRuiql vis Bad dd Ll
AN 9 UG HIRL AR § AHUAA 53 Usdl HiZ AL, dd dHIRL Hidllidid Axendl
"ol duer Wil kil w2 Wil saiy ol 3 oAl BaRil dHIRL edlA A gl
Aaldl Agdl. W HRL WAl R al el | 2 #3308, dil %33R AHKAL.

L s
Al 2L 3 § Y 537 R. Az

Q. %3

Answer the following questions in English.

Example : What is Jayesh like? He is shy.

1. Why do Jayesh’s parents believe he should visit his relatives?

[1]

2.  Why is Jayesh not happy about it?

[2]

3. What advice does Ritabahen give him?

2]

[5 marks]
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VL YA Al A5 AAMAUL QAL 9. (1995 — Higher 2 — Sec 1 — Ex 1 with slight changes)

deld ygol

Bedl 32dls auidel MA A voL ALs ARl © A WAL Avid gulldl A 9. SUARS dl
galel U@l 4 42, IR AfAR WY % 1A A . § R Al [ewdl . 2w AR
gullal HI2 HIR 9 Gua sdl sl adle vl dl suensl adu?

Q. sy wdal

we{lyeus

il geiel Rl vudla el anl 9. epeal e, Gl el saiel 3 Gl dly
WY gul. ddy vior e, Aty Ay ainael ¥ Adl w5y i 6l dalel ua
Hig gul.

gullal M1 3edid sRR)L S U3, e3s HIZ dl %Ll sal A K B, A s o salell s1uH

AL HA A A g, WNR vl A 8 d W2 AARAL di AR|RIRY g4 Y, duy
dlosl ALSMUD A $0L S1AH Q.

L GUAL MU GUR dsidl «L AL A dioll Avd 12 Adl A4 %l 21 592 GuUR
S A S SHASH Bse salsl id BAH 2aQ sA %l WAl guidl Yal-l AMa
2. L sUsldl U2 S0 AUl %3 .

AL A AR AU Gan N O,

AL Aaldlal Yyi atsdlui gaisr quil,

Example : dlAs 32ell Ayl &? A5 R AU O
Q)  aRs g dsdls &7 [2]
(R) sl dsdls e A QA dal AU 6 SRe0 UL [2]

(3) wusmi gal M2 Y avy ©?

[2]

[5 marks]
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Advice Column

Read Rakesh'’s letter and Rita’s reply. (OCR Higher 2009 paper, Section 2 - Q4)

Aetdlat

¢ UeR crloll austeldl (BalRk 8. § éRall AW Wlls @G © BU ¥ 50 Ao clell wseuy
(B clatotl Wi g5SL WG & Mol g8 A Us{lR otell elictdl ugl WElot 2 § €8l ug WG .
Aues st s0 Qe Wl @B @ .sUc HIR § Rt geolld 3 8. AM ©lld Wil
GRS g5l UlA g2 B ual audl «iell.

Al Hal ucle W ¥ § ol 9 532
[@. 32l

A5eUS

AHRAL VRS Al (RLeR ® A2A Rl oll 530 X 8% GHIHL ellell Bl AA QLA cullRell
HIZ ARl W M2 «ell 8.

QUL of dl Al ueL ate AV ¥ gllanml olly ug] volRle] B, A2A dN H3ald 53 el
clolHi AL adl.,

[@. dlat
Write the answers in the blank spaces.
Example: Why does Rakesh not eat meat and fish? He is a vegetarian

16 Why does Rakesh think he eats well?

............................................................................................................................ [1]
17 Why does he eat yogurt for proteins?

............................................................................................................................ [1]
18 What is he worried about?

............................................................................................................................ [1]
19 According to Rita what might he still do?

............................................................................................................................ [1]
20 According to Rita why should Rakesh work hard?

............................................................................................................................ [1]

[5 marks]
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